	[image: image14.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2010
Class – IX
Subject – Maths   
Max Marks: 80. Time: 3 hours

       General Instructions:

· All questions are compulsory.

· Section A contains 10 questions of 1 mark each.

· Section B contains 5 questions of 2 marks each.

· Section C contains 10 questions of 3 marks each.

· Section D contains 5 questions of 6 marks each.
SECTION A

1. Write the degree of the polynomial:  y + y2 + 4 – y8 

2. Find the product using a suitable identity: (3x + 4) (3x – 5)

3. State the most famous Euclid’s postulate. 

4. In a huge park, people are concentrated at three different points A, B, C. Where should an ice-cream parlour be set up so that maximum number of persons can approach.

5. In a triangle ABC, E is the midpoint of the median AD. Let area of triangle ABC be 16 sq cm. Then the area of the triangle BED is -------------.

6. PQRS is a square. Then angle SRP is equal to: 

7. In a triangle ABC, angle A is equal to 95 o and B is equal to 60o, find the least side of triangle ABC.

8. The supplement of an angle is one-third of itself. Determine the angle and its supplement.

9.  If ar ((AMC) = ar (( BMD), then (AMC 
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( BMD True or False? Give reason.

10. Name the triangle formed by joining the midpoints of the sides of a right- triangle.

SECTION B

11. What should be subtracted from x3 – 3x2 - 10x + 26 so that (x – 2) may be a factor of it. 

12. In triangle ABC, BO is the bisector of angle B and CO is the bisector of angle C If angle ABC is equal to 62o and angle ACB is equal to 48o, find angle BOC.

13.  The side AC of triangle ABC is produced to e such that CE =
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 AC. If D is the mid-point of BC and ED produced meets AB at F and CP, DQ are drawn parallel to BA. Draw the diagram to prove FD = 
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 FE.

14. D and E are points on sides AB and AC respectively of (ABC such that ar (DBC) = ar (EBC). Prove that DE 
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BC.

15. ABCD is a parallelogram, AE
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DC and CF 
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AD. If AB=16 cm, AE = 8cm and CF = 10cm, find AD.

SECTION C

16. Given that (x +2) and (x –3) are factors of x3 + ax + b, calculate the values of a and b and find the remaining factor.

17. ABCD is a rectangle in which diagonal AC bisects (A as well as ( C. Show that: (i) ABCD is a square (ii) diagonal BD bisects (B as well as (D.               

18.  L, m and n are three parallel lines intersected by transversal p and q such that l, m and n cut off equal intercepts AB and BC on p. Show that L, m and n cut off equal intercepts DE and EF on q also.

19. Prove that parallelogram on the same base and between the same parallels are equal in area. 

20.  In fig, ABCD is a quadrilateral and BE 
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AC and also BE meets DC produced at E. Show that area of (ADE is equal to the area of the quadrilateral ABCD. 

21.  Factorise 
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22. Examine In Fig 1, what value of x would make POQ a line?

23.  The side BC of a triangle ABC is produced to ray BD such that d is on ray BC. The bisector of (A meets BC in L. Prove that ( ABC + ( ACD = 2( ALC.                                

24.  Prove that sum of the angles of the triangle is 180.

25.  In a (PQR PQ > PR and QS, RS are the bisectors of (Q and (R. Then prove that SQ > SR.

SECTION D

26. Using factor theorem, factorize the polynomial x4 + x3 – 7x2 – x + 6.

27. In Figure 2, the sides AB and AC of ( ABC are produced to points E and D respectively. If bisectors BO and CO of ( CBE and ( BCD respectively meet at point O, then prove that ( BOC = 90 - 
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 (BAC.

28.  In right triangle ABC, right angled at C, M is the mid-point of hypotenuse AB. C is joined to M and produced to a point D such that DM= CM. Point D is joined to point B. Show that (i) (AMC 
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( BMD (ii) ( DBC is a right angle. (iii) ( DBC 
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 ( ACB (iv) CM = 
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 AB

29.  State and prove Mid- Point Theorem.

30. [image: image1.wmf]@

Diagonals AC and BD of quadrilateral ABCD intersect at O such that OB =OD. If AB = CD, then show that: (i) ar (DOC) = ar (AOB) (ii) ar (DCB) = ar (ACB) (iii) DA 
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CB or ABCD is a parallelogram.
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